Option 1

Task 1. Read the text and:
a) Choose the correct answer for each gap.
b) Translate the last paragraph into Ukrainian in writing.

Divorce is bad for the environment

Divorce is bad for the environment. This is the conclusion (1) aresearch study carried (2)
by ecologists at Michigan State University in the USA and published in the journal 'Proceedings of
the National Academy of Sciences'. Researchers found that divorce has different kinds of negative
(3) ____ on the planet, including a higher demand for resources and a lower rate of efficiency in the
use of household resources. The research team analyzed (4) __ on married couples and their use of
resources in 12 countries, including the USA, Brazil, Costa Rica, Ecuador, Greece, Mexico and
South Africa. (5) __ researchers Eunice Yu and Jianguo Liu discovered that divorce led to smaller
average household sizes, which resulted in a larger number of total households and (6) _ a greater
demand for energy, water, and land.

In many countries around the world divorce (7) __ have been rising. "A married household (8)
___uses resources more efficiently,” said Mr Liu. He added that people seemed surprised by his
findings at first, and then after thinking about it, decided it was simple. He said: "People have been
talking about how to protect the environment and (9) _ climate change, but divorce is an
overlooked factor that needs to be considered.”

His report states that in America in 2005, divorcees could have saved more than 73 billion kilowatt-
hours of electricity and 627 billion gallons of water if they (10) _ stayed married. In percentage
terms, divorcees used 42-61 percent more resources (11) _ person compared with a married
person. To help save natural resources, Yu and Liu recommended that governments consider the
environmental impact of divorce and (12) .

1. (@ with (b) for () by (d) of
2. (@ away (b) in (c) out (d) across
3. (@ impacts (b) compacts (c) pacts (d) pact
4. (@ datum (b) data (c) database (d) databank
5. (@ Lead (b) Gold (c) Metal (d) Steel
6. (@ though (b) this (¢) thus (d) these
7. (@ ratio (b) rates (c) rate (d) prorata
8. (@ acutely (b) actuary (c) actual (d) actually
Q. () combatant (b) combative (c) combats (d) combat
10. (@ had (b) have (c) has (d) haveto
11. (@ pair (b) poor (c) per (d) pre
12. (@) separate (b) separation (c) separates (d) separated
Task 2.

A. Read the sentences and fill in the correct word.
1. Because she had an interest in languages and culture, she decided to Spanish.

a) attend b) majorin  c¢) transfer
2. My brother decided to a distance learning programme because there were no local
schools in his area that offered a program in his field of study.
a) enroll in  b) skip class ) major

3. After I get my bachelors degree, I'm thinking about going on and getting a
a) masters degree b) major c) doctoral degree



B. Complete the sentences with the words describing people’s character:

a) | like someone who is because .
b) I enjoy being around people who are because .
c) I can't stand people who are because

Task 3. Translate into English.

1. Lli 6nusHioku Hapomumucs y 2004 pomi. IxHs MaTu posmyuunacs 3 40JIOBiKOM, TOMy IO BiH He
KOXaB a Hi ii, a Hi AiTel. 3apa3 BOHA BUXOBYE iX cama.

2. Ti nBoropigna cectpa mpaiioe B AUTAYOMY CajIKy i JoNoMarae i JoriaagaTy il mieminHukis. Bona
Ka’ke, 1110 BOHU TaKi IHUpP1 Ta KMITJIMBI, X04a 1HKOJIM OyBalOTh JTy’K€ TajaciivBl Ta HETIOCHUTIOYI.

3. B 11 kraci s BupimuB, M0 MeH1 MOTPIOHO OJIepKATH BUIILY OCBITY.

4. Tlicns 3akiHUEHHS MIKOJH s mofaB 3asBy 10 HAY, onHoro 3 Hallkpaiux yHIBEpCUTETIB B YKpaiHi.
5. 4 maB rapHi OLIHKK B artectaTi 3pinocTi. | KoiM s yCHiIHO CKJIaB BCTYMHHH icmuT, s OyB
OPUMHATUN 0 YHIBEPCUTETY.

6. 3apa3 s NepIIOKYPCHUK Ha 3a09HOMY BiJITUIEHHI T'yMaHITapHOTO iHCTHTYTY.

7. 51 xouy cTaTH mepekiagadeM 3i CTyIeHEM MaricTpa, ajie CroyaTky Tpeda HaBYaTUCS YOTUPH POKU
Ha piBHi OakanaBpa.

8. Mos HaitymioOJeHila noroja — 1e KOJIH CBITHUTh COHILIE 1 Iy€ JIETKUHN BiTepellb, 1 TeMIeparypa He
nepeBuiye 25 rpamyciB Llenbcis. Ane chOroHi 3aHAATO CIIEKOTHO. MOXHA OTPUMATH COHSYHHUN
ynap.

9. B bpuranii Ha KJIiMaT BIUIMBAaE MOpPE Ta OKeaH. TaM Terutimie, Ta i onaaiB HabaraTo merme. CHIr
BUIIAJIA€ PIAKO, 1 0JIpa3y TaHe.

10. Yu He macu MeHi cBid koHcrekT 3 Ictopii Ykpainum. S mpomycTuB Jekiiio, a Temnep Tpeda
TOTYBaTHCh IO CEMiHapYy.

Task 4. Write a passage of 150-200 words to comment on the following proverb:
Appearances are deceptive.

Option 2
Task 1. Read the text and:
a) Choose the correct answer for each gap.
b) Translate the last paragraph into Ukrainian in writing.
School leaving age set to rise to 18

The British government is soon to (1) __ legislation that would raise the school leaving age to 18.
The new (2) __ will come into effect by 2013. Pupils will have the (3) ___ of staying in formal
classroom education that covers academic lessons, or of receiving vocational (4) . It is the first
major revision of the compulsory education age limit (5) __ 1972, when it went up to the present
16 years old. The government hopes the additional two years of schooling or training will bolster the
(6) ___ of young Britons and ensure more British youth have qualifications or workplace skills. If
successful, Britain may be able to boast the best educated and most highly trained school leavers in
the world, which is (7) ___ to have positive knock-on effects for industry and the economy. It
should also bring down levels of crime.

Britain’s Minister for Education Alan Johnson told The Times newspaper that it was "(8) _ thata
youngster of 16 is not getting any training"”. He lamented on his mistakes of the past, saying: "I (9)
_____not staying on in education... when | left school there were loads of jobs you could (10)
into without qualifications. That's not going to be the case in the future.”



The leader of Britain’s teaching union Steve Sinnott concurred. He described the upcoming
legislation as (11) “  ". He warned: "We cannot afford to neglect those young people who
currently leave school at 16 unprepared for the rigors and demands of life in the 21st Century.” Toby
Ashford, a 16-year-old student from London wasn’t as enthusiastic. He complained that: “It is

another example of politicians trying to be (12)  with young people.”

1. (@) past (b) pass (c) passed (d) passing

2. (@ plenary (b) planned (c) plans (d) plane

3. (@ choose (b) choosing (c) chores (d) choice

4, (@ training (b) train (c) trained (d) bus

5. (@ throughout (b) while (c) during (d) since

6. (@ qualify (b) quality (c) qualified (d) quacks

7. (@ bounding (b) bound (c) tiedup (d) strung up
8. (@ repellent (b) repealing (c) repel (d) repeal

9. (@ register (b) regardless (c) regretful (d) regret

10. (@ wake (b) want (c) walk (d) wave

11. (@ inept (b) inebriated (c) inevitable (d) inedible
12. (@ ScaryUncle (b) Little Sister (c) BigBrother (d) Silly Cousin

Task 2.
A. The following adjectives describe character. Read the text and fill in the correct
adjective.

1. I really like people who are because they always believe that things will work
out in spite of difficult challenges.

a) dependent b) humble C) optimistic
2. Monica is very and always gives her time and resources to help those who are in
need.

a) ambitious b) generous c) reliable
3. To be honest, my father can't stand coworkers who are and won't consider new
ideas or ways of doing things.

a) close-minded b) dishonest c) inconsiderate

B. Using the adjectives describing a person’s character write three things to describe
(Use complete sentences to explain your ideas):
a) the ideal boss
b) the ideal roommate
c) the ideal partner.

Task 3. Translate into English.

1. Bu 6aunnu moro aigycs? BiH TiTbKku BUTIIsSIIa€ CTapUM Ta caOKuM. 3BUYAHO, BiH BXK€ Ha MEHCII.
AJe BiH CHJIBHUM Ta eHepriiHUIA.

2. Bin xomguth 1o GaceliHy Ta rpa€ B TEHIC KOXKHOTO TYOKHS 3 JIOJBMH, MOJOJIIIMMH 32 HBOTO.
Haxanp, BiH 3apa3 BaiBers. Hamma 6a0ycs momepia pik Tomy. Mu Horo e1nH1 poaudi.

3. A mro6umo #ioro ta moBaxkaro. BiH gomomMarae MeH1 OTpUMAaTH BHILY OCBITY. BiH miaTuTh 3a Moe
HaBYaHHI.



4. Buopa s mpoBiB 3 TOJAWHHM B YHIBEPCUTETChKiKM Oi0mioTeri. CrioyaTKy s TOTYBaBCS O CEMiHapYy,
MOTIM MHCaB KypCcOBY poOOTYy.

5. Cxopo y Hac mepia cecisi, ToMy 3apa3 s 1 Moi OJTHOKYPCHUKH JIyke 3aitHaTi. Ham kyparop kaxe,
o Tpeba 6arato BUMTH, 100 CKIACTH €K3aMEHH YCITIIIHO.

6. Ti, XTO Mae XOpOIIi OIIHKK HPOTSITOM CEMECTpPY, MOXKYTh HE XBHJIIOBATHCS, - BOHM MAalOTh BCI
IIAHCH 3aKIHYUTH ceMecTp 0e3 akaaeMiyHuX 3a00proBaHOCTEH.

7.51 X0o4y cTaTH MepekiiagadeM 31 CTyIeHEM MaricTpa, aje ClodaTKy Tpeda HaB4aTHUCS YOTHPH POKU
Ha piBHi OakanaBpa.

8. He BapTO BUXOJMTH B TaKy HEroAy Ha Bynuio. HabmmwkyeTsest rpo3a. BumokHnem o0 pyous, Ta i
OJIMCKABKU YK€ HEOC3IeUHi.

9. 3 panky mopocuth npibHmi momuk. Tyr 1 mapacoyibka He AOMOMoXe. Boyor HIOM BHCHTH Y
MOBITPI.

10. Panime 3umu Oynau cyBOpilIMMH. MOpPO3U MOIJIM TPUMATHUCS BCIO 3UMY, a 3apa3 MU HaBITh Y
HOBHII pik 6€3 CHITY 1 MOPO3Y.

Task 4. Write a passage of 150-200 words to comment on the following proverb:
Train hard, fight easy.

Option 3
Task 1. Read the text and:
a) Choose the correct answer for each gap.
b) Translate the last paragraph into Ukrainian in writing.

World marriage day

Marriage is forever. “Until (1) do us part”. At least that’s what people promise at the altar when
they say “I do”. World Marriage Day (WMD) is (2) _ on the second Sunday in February. It is
for people to think about their marriage and perhaps (3) __ their own vows of faithfulness and
love. It is quite surprising this day does not have a higher profile in the world. After all, marriage is
perhaps the most important (4) __ bond in our lives. The WMD website says: “World Marriage
Day honors husband and wife as head of the family, the (5) __ unit of society. It salutes the beauty
of their faithfulness, sacrifice and joy in daily married life.” In 1993, Pope John Paul II gave his
support for WMD. It continues to (6) __ every year.

Marriage is (7) ____ threat today. More and more marriages are ending in divorce and many couples
are choosing not to marry at (8) . In the developed world, people are leaving it later and later to
marry, or are deciding to stay single. So why do people get married? They want to show their (9)
______commitment to the partner they love or they believe children should have married parents. For
most people, it is the (10) __ thing to do. One rather strange reason people often give for getting
married is financial security. There are so (11) _ different and difficult issues surrounding
marriage. Societies are still wondering what to do about same sex marriages and in some countries,
polygamous marriages. | suppose every marriage is (12) .

1. (@  deathly (b) deathlike (c) death (d) deaths

2. (@  celebration (b)  celebrated (c) celebrates (d)  celebratory
3. @ new (b) newly () newness (d) renew

4. (@  social (b) socially (c) socialite (d) socials

5. (@ basically (b) basics (c) Dbasil (d) basic

6. (@  growth (b) grown (c) grow (d) grew



7. (@ over (b) under (c) after (d) before

8. (@ every (b) each () all (d) whole
(@  living (b) life (c) lived (d) lifelong
10. (a) naturally (b) natural (c) naturalness (d) nature
11. (@ many (b) much (c) most (d)  mostly
12.  (a) different (b) differs (c) difference (d) differed

Task 2. Read the descriptions of different people. Then complete the final
sentence in the most appropriate way (add at least two sentences).

a). When | last saw my brother, he was a long, lanky eighteen-year-old with scruffy, long hair
and a thin moustache that looked silly. He was skinny and shy. But now, I’ve just returned from
two years in America, and he’s absolutely gorgeous. He’s ...

1. He’s

2.

b). When he was young my dad was short, slim and wiry. He played rugby, and he was very fast
and strong. But now he’s put on a bit of weight, and he would best be described as ...

1. he would best be described as

2.

c). My friend Sara has always been a bit chubby, and over Christmas she ate lots of good food,
and got depressed because she was really overweight. So she went on a crash diet, lost loads of
weight, and started working out at the gym. And she’s transformed. Now, she’s ...

1. Now, she’s
2.

Task 3. Translate into English.

1. V Hux He ckianucs HUTIOOHI CTOCYHKH, 1 XO4Ya BOHH II€ HE PO3JIyYWIUCS, aje 3apa3 >KUBYTb
OKPEMO.

2. Toro aHA 4OTUPU MOKOJIIHHS POAMHU 310pajiucs 3a CBATKOBUM CTOJIOM — Mpajij Ta npabadycs
CBATKYBAJIM CBOE 30JI0TE BECULIIS.

3. Hapeuena Ha cBoeMyY BeciJuTi y 4apiBHOMY BOpaHHI BHTJIsSIaa O€3/I0TaHHO.

4. BecinpHuii OeHKeT A00iraB KiHIIS, HapeueHa KWHYJA CBI BHUINYKaHWH OYKETHK y HATOBII
MOJIOJUX JIIBYAT Ta MIIIA MEPEBIATATUCH JUTSI TIOI3]IKU Y BECIIIBHY MOJOPOK.

5. HapoauTu crvHa 3Ha4HO Jieriie, HiXk BUXOBaTH HOTO.

6. BiH — caMOTHi#t 0aThKO, a HOTO €IMHUHN CHH-ITITITOK TOTpeOye Oararo yBary.

7. B asiaTchkuX KpaiHax HLTIOOM 3a JOoMOBiIeHicTIO (arranged marriages) HaBiTh 3apa3 € JIOCHTh
PO3MOBCIO/IKEHUMH 1 JTy’K€ P1JIKO PO3MAIal0THCA.

8. HaBuanHus Ha OakanaBpa TpuBae 4 POKH, a MOTIM BH MOXE BCTYIMTH JIO MariCTpaTypH, Iie Iie
MIBTOpa POKH. AJle Ha 3a04HIH (OPMI TPOXH JIOBIIIE.

9. 4 Buopa mpomokIIa 10 pyous — 1me OyB HE IPOCTO JOMI, sl CIIPaBXKHIN MOTON (=IPOJIMBHUI JOII),
SKHMI IOYaBcs 3 rpajy, TPUBAB MiBJIHS, a 3aKIHYMBCA JOIIEM 31 CHITOM.

10. B €spori Temneparypy BUMIpIoIoTh y rpanycax Llenscid, a ¢ CILIA- 3a ®@apenreiitom. Tpeba 1o
I[bOTO 3BUKHYTH.

Task 4. Write a passage of 150-200 words to comment on the following proverb:



All is not gold that glitters.

Option 4

Task 1. Read the text and:
a) Choose the correct answer for each gap.
b) Translate the last paragraph into Ukrainian in writing.
Parents face fines in new school rules

British parents could soon (1) a fine and prison if their children misbehave at school. Britain’s
government wants to introduce (2) __ new laws to improve discipline in schools. They want to
make parents more responsible for their sons and daughters. Some of the new (3) __ include
making parents attend parenting courses, paying a $1,700 fine or going to prison. The Schools
Secretary Ed Balls said current policies on (4) __ behaviour are not strict enough. Many British
schools (5) _ from high levels of bullying, truancy and low academic achievement. He wants
parents to play their part in making sure their children achieve. "Every parent has a responsibility to
(6) ____ our teachers and make sure the rules are [followed]," he said.

The measures are (7) ___ of a new focus on the relationship between schools and parents. Mr. Balls
also has plans to help parents and students. He (8) __ to give pupils private tutors if they are (9)
_____badly in reading and maths. He also wants doctors, health workers and social workers in
schools to provide better community services. Under Mr. Balls’ plans, parents will have a bigger (10)
_____in how schools operate. They will complete satisfaction surveys on how their children’s school
performs. (11) _ say the plans are unlikely to be popular with parents. There are also fears about
(12) ____ parents not having enough money to pay the fines and whether they should go to prison for
their children’s actions.

Put the correct words from the table below in the above article.

1. (@ pace (b) race (c) face (d) lace
2. (@  rough (b) tough (c) bough (d) cough
3. (@  measures (b) measured (c) measuring (d)  measurement
4. (@  really (b) unripe (c) rally (d) unruly
5. (@  suffers (b) suffering (c) suffer (d) sufferer
6. (@  front (b) side (c) back (d) top
7. (@ partly (b) part (c) partner (d) parts
8. (@)  proposes (b)  proposal (c) proposition (d)  proposing
Q. (@  does (b) doing (c) do (d) did
10. (a) voice (b)  speech (c) tongue (d) sound
11. (a) Creatures (b) Critters (c) Croutons (d) Critics
12.  (a) poverty (b) poorly (c) poorest (d)  poorer
Task 2.

A. Read the sentences and fill in the correct adjective describing character.
1. My sister's boyfriend, Matt, is in his early , he has an average build, and is tall.

a) twenties b) young adult C) age



2. | didn't get a good look at the man, but he was probably in his forties,

(the weightlifter

type), and was about average height.

a) overweight
3. Esther was carrying her
a) newborn infant

b) stocky c) thin
who was born just three days ago.

C) youngster

b) toddler

B. Find the antonyms in column B

A B.
1) ambitious a) unreliable
2) generous b) unmotivated
3) hardworking c) stingy
4) honest d) shy
5) humble e) self-centered
6) independent f) quiet
7) kind g) pessimistic
8) nervous h) lazy
9) open-minded 1) late
10)  optimistic J) inconsiderate
11)  outgoing k) dishonest
12)  punctual I) dependent
13)  reliable m) close-minded

14)  talkative
15)  unselfish

n) calm
0) bigheaded

Task 3. Translate into English.

1. 'V mene Benuka pojuHa: HacC 1M’ ATepo. Y MEHE € cTapuiuidi OpaT Ta MoJiofia cectpa. Miit 6aTbko
— a/IBOKaT, a MaMa — JloMorocnoaapka. bareko Ha ’4Th POKIB CTapIINii 32 Mamy.

2. Mos crapia cectpa Bxe oJpykeHa. Moi MaleHbKi IUIEMIHHUIS Ta MJIEMIHHUK — OJIM3HIOKH. 3
HUMH KMBYTb MOi Ainych Ta 0alycs. BoHu meHcioHepu 1 JnomomararoTh MoOiil cectpi Ta ii
YOJIOBIKOBI Y AOTJIA/I 32 MAJIEHbKUMU TITHMHU.

3. Kpim Toro, y Hac 6arato poandiB: /1Bl TITKH — CECTPH MOTO OaTbKa, Ta TPOE AS]bKIB — OpaTiB
Mo€i MaMHu. B¢l BOHM MaroTh CBOIX JiTel — MOiX JBOIOPIIHUX OpaTiB Ta cecTep.

4. Enic — BHCOKa CTpyHKa AiBuMHa 22 pokiB. B Hel kapi oui, rycTe XBWIACTE KallITAaHOBOTO
KOJIbOpY BOJIOCCS 10 IUIedyei, TOHeHbKi OpoBM Ta noBri Bii. Ilepmie, mo BH mMoMivaere,
JUBJIAYMCh Ha Hel — 1e i vapiBHy mnocMimiky. Komm BoHa mocmixaeTbes, Ha 11 IIOKax
3’SBIISIIOTHCS IBI KPUXITHI IMOYKH, SIK1 pOOJIATS ii 111e O1IbII IPHUBAOIUBOIO.

5. Twu oapyxeHuii, un He Tak?

6. 1 HaB4aroch B YHIBEpPCUTETI, 51 Ha nepuioMy kypci ['ymanitapHoro yHiBepcutery HAY.

7. Ham ocHoBHUM (mpodimorounii) mpeamet — “IIpakTuka ycHOro Ta MMCEMHOIO MOBJICHHS , IKUI
MU Oy/1IeMO BUBYATH TPU CEMECTPH..

8. KpiM npakTH4YHUX 3aHATH MH MTOBHHHI BiJ[BiyBaTH JIEKIIil Ta CEMiHApH.

9. U nHamoMy KOHTHHEHTAJIHLHOMY KJIiMaTi He OyBa€ NWKIIOHIB Ta bYCOHHHX JIOIIIB, aje 3UMOIO
OyBae CHIIbHUI MOPO3 Ta 3aBIPIOXH.

10. IToroma mouana 3MiHIOBAaTHCh. 3aBTpa OYIKYETHCS MOKPHUM CHIT Ta CHJIBHMM BiTep. 3UMa HE 3a

TrOpaMHu.

Task 4. Write a passage of 150-200 words to comment on the following proverb:

Love is blind.



